OCTOBER 2012 U/ID 9010/JA2

Time : Three hours Maximum : 50 marks

Answer any THREE questions.

1. The following data is about the daily wages of
works of two companies A and B. use Lorenz curve

to draw your conclusion.

Pay 50 100 200 500 750 900
CompanyA 16 11 13 14 15 11
Company B 10 5 8 6 4 7
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Blmeuerd B 10 5 8 6 4 7



The following data is about the life condition of
two brand of refrigerators A and B. Find which
brand has be consistat life span.

Years A B
0-2 5 2
2-4 16 7
4-6 13 12
6-8 7 19
810 5 9

10-12 4 1
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garhsar A B

0-2 5 2
2-4 16 7
4-6 13 12
6-8 7 19
8-10 5 9

10-12 4 1
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3.

The joint probability distribution of two random
variables X and Y is given below
Y 1 2 3 4
X Total
1 Yo e 6 Yoo | s
2 Yoo N The s | Vs
3 Ye Ve o Ve Ve | D
4 Vo Yo S s | P
Total 14, Y6 Ve Y6 1
Find (a) Marginal distribution of X and Y
(b) P(X=x/Y =1)
© P(Y=y/X=z2).
Y 1 2 3 4
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(=) P(X=x/Y=1)

@) P(Y=y/X=z) Qaupens Srams.

4.  Obtain the equations of two lines of regression for
the following data. Estimate X for Y =70.
X: 65 66 67 67 68 69 70 72

Y: 67 68 65 68 72 72 69 71
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5. Two random samples drawn from a normal

population. For this data,

test whether the

averages are equal (125d.f,5% = 2.06)

Samples I
Samples II
Samples I
Samples 11

25
44
24
30

34
10
35
18

14 32
31 40
35 29 22
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35 29 22
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